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[LLUSTRATION 17. T 8T ¥ & € A st B €A W#;"mﬁ?%%
50?'/3@6@771?251%’@7@73“@#%3#60?/1??%” T F)

ss A and B there Weé .
e 25 students with a

re 20 students in section A ap g,
ir

] in a cla
There were two sections riiod Tk 800 i g

average marks were 50. In section B there wer

the average marks for whole class.
20, X, =50, N, =25 X =60

SOLUTION. N,
_ 20x50+25x60 _ 2500
:/———‘—'“
Xiz 20+ 25 45
X, =55-55

ot wen % offgd o1 55-55 2l
f Missing value)
g A AR A

& 3T 9o @) IUEI (Calculation O
I feredt a@m%wméﬁ%wﬁé%ﬁﬁw

;gﬁaﬁamﬁwarm%:
)-{-_X,+X3+X3+...+X,,
) N

ILLUSTRATION 18. A7 &g 5 7 F} 85 7 AT [T 30 Bl FA R 55 & ge 10, 15, 30
ar 35 &1 9@?%567%%73@%#/

eries of 5 items is 30. Four values are, respectively 10, 15, 30 and 35.

Suppose mean ofas
Estimate the missing 5th value of the series.

SoLUTION. BT 53 e Hl T&T X5 ¥l
X, +X,+ X5+ X+ X5
N
30 J0+15+30+35+ X,
5
O=9O+X5 .
S
30x5=90+Xj
150 =90+ X,
150 - 90 = X
X5 =6O

9

X =
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|LLUSTRATION 19. N7 SO Tt 37 feraror 1%} o 1y # 57 sy .

1/

Average marks of 50 students are 44 .8 whose de

HE 448 #1 wrarr om0

tails are given below. Locate the missine

value.
L S e
- N
U 7
e 9 0 1 15
2 | 0 7
60 s
70 S
SoLuTioN. )
X | f Jx
20 .
20 7 [
40 15 600
2 (x) o 102
60 ) 8“ o iﬁ 4380
S 70 - _5_ N : 350
T T N =50 Efx = 1740+ 10y
X = %ﬁ
wog= LI

2240 = 1740+ 10x
500 = 10x
50 =x
S A qEq = 50,
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